Vocabulary

AXis:

Equinox:

FultMoon:

- Moon:

OCrbit:

Fhases:

Summer Solstice:

Wanes:

Waxes:

Winter

Solstice:

¥

Earth, Moon and Sun Study Guide
an imaginary line that runs fhrough the North and So'u.-’rh Poles

the two days of the year (one in autumn and one in sprlng) when
the hiours of doyllghT and darkness are equc:l

A full moon occurs Qbou’r fifteen (15} olclys after the new moon
phase

a satellite of the Earth that orbl’rs the Earth once every 29 1/3 days

(Remember: the moon is always. Ioco’red on the same side of the’
sun as the Earth); if you look up of the sky in Connecticut and see
a crescent moon, people in other parts of the world, such as
Australia or China, would also see o crescent moon

the path of one ObjeCT in space czround dnother object {the Earth
orbifs'the sun ence a yéar - or —once every 365 V4 days)

describes the 8 different shapes the moon seems to hove during ‘
the month

e

the day of ‘rhe yeor with the mosf hours of deyllgh’r {around June

211in ’rhé Northern Hemisphere

déscribes the second half of the moon's cycle, when the it side of
the moon, as seen from Earth, decreases or shrinks

3 descnbes the first half of the moon’s cycle, when the it side of the

moon, as seen from Earth,-iNCreqses or grows

the day of the year that has the most hours of darkagss (around
December 21 in the Northern Hemisphere}

The mioon revolves around ’rhe"édifh', which reveivesaréund the sun.

The %Edt_’r'.l‘f'ii‘s"friﬁOézn is always mu;c:h.c'idsér to the Earth than ’i’rﬁisi"fO the sun.

The winter solstice is followed by the spring equmox then summer solstice, then fall

equinox

Night and Doy one half of Earth is always in light, and one half of earth is always in
darkness because at any time during | ihe dcy, half of the Earth is facing the sun and
half of the Earth is facing’ away from the sun due fo its: rotation.



The tilf of the Earth on its oxis causes the change in seasons. Thus, when it is winter in
the Northern Hemisphere, it is summer in the Southern Hemisphere. For example, in
December, the Southern Hemisphere is tilted in the direction of the sun so that parf of
Earth experiences summer. At the same fime, the Northern Hemlsphere is filtted away
from the sun, so that part of Earth experiences winter. : .

e -The Eorih and the Moon ore'dlik'eg ,becouse they both-get light and-heat.from the-Sun,

s
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When responding 1o open ended questions, remember o use factual information to

support yourideas. For example:

Question: Sally and Sam were dlscussmg The reqson why we expenence dlfferen’r

. sedsons in Connec’ncu’r

Sally: “The reason why we have seasons in Connecticut is beccxuse during the months
of June, July and August, as the sun orbits around the Earth, it moves closer to the
Earth. During the montths of December, January and February, it moves further away
from the Earth.

Sam: “I think we have seasons because the Earth is tilted on its axis, and the seasons
depend on where we live, and the direction ofifs filt.” - Y

Which person do you agree with the mosie Explcin why you cgree Wl’rh that person
and not the other, :

Response:

 Lagre&with Sam: The rsason why we have sedsons i Connecticut s because os the

Earth orbits around the sun [one complete orbit is approximately 365 days), it is filted
on its axis. When the Northern Hemisphere {where Connecticut is located) is tilted in -
the direction of ttie sun, that part of the Earth receives more direct sunlight and _
warmer temperatures. At the same time, the Southem Hemisphere is tilted away from -
the sun, and receives indirect sunlight and colder temperatures. Places near the
equator do not experience seasons like we do in Conneclicut because they receive
direct sunlight, &nd warm temperatures throughout the year. | do not agree with Sally
because the sun does not orbit around the Earth. Finally, the sun does not move
closer or farther away from the Eorth




